		SPECTION AND SERVICE OF RANGE HOOD SUPPRESSION SYSTEMS	FUSE LINKS						
	INC	LUDE MILEAGE RATE PER MILE AND FUEL COST IN PRICING							
		SEMI ANNUAL							
ATTACHMENT A									
	SCHOOL	ADDRESS	QUANITIY	UNIT PRICE					
1	ANTHONY ELEMENTARY SCHOOL	600 FOURTH STREET, ANTHONY, NM 88021	6						
2	BERINO ELEMENTARY SCHOOL	92 SHRODE ROAD, ANTHONY, NM 88021	6						
3	CHAPARRAL ELEMENTARY SCHOOL	300 E. LISA DRIVE, CHAPARRAL, NM 88081	3						
4	CHAPARRAL HIGH SCHOOL	800 COUNTY LINE DRIVE, CHAPARRAL, NM 88081	6						
5	CHAPARRAL MIDDLE SCHOOL	290 E. LISA DRIVE, CHAPARRAL, NM 88081	6						
6	DESERT PRIDE ACADEMY	100 SHRODE ROAD, ANTHONY, NM 88021	0						
7	DESERT TRAIL ELEMENTARY SCHOOL	310 E. LISA DRIVE, CHAPARRAL, NM 88081	4						
8	DESERT VIEW ELEMENTARY SCHOOL	1105 VALLE VISTA, SUNLAND PARK, NM 88063	4						
9	GADSDEN ADMINISTRATIVE COMPLEX	4950 MCNUTT, SANTA TERESA, NM 88008	4						
10	GADSDEN ELEMENTARY SCHOOL	1440 HIGHWAY 478, ANTHONY, NM 88021	6						
11	GADSDEN HIGH SCHOOL	6301 HIGHWAY 28, ANTHONY, NM 88021	22						
12	GADSDEN MIDDLE SCHOOL	1301 W. WASHINGTON STREET, ANTHONY, NM 88021	6						
13	LA UNION ELEMENTARY SCHOOL	875 MERCHANTILE AVENUE, LA UNION, NM 88021	4						
14	LOMA LINDA ELEMENTARY SCHOOL	1451 DONALDSON STREET, ANTHONY, NM 88021	4						
16	NORTH VALLEY ELEMENTARY SCHOOL	300 CASCADE AVE., SAN MIGUEL, NM 88058	4						
17	PHYSICAL PLANT COMPLEX	1325 W. WASHINGTON, ANTHONY, NM 88021	0						
18	RIVERSIDE ELEMENTARY SCHOOL	4085 MCNUTT ROAD, SUNLAND PARK, NM 88063	4						
21	SANTA TERESA MIDDLE SCHOOL	4800 MCNUTT ROAD, SANTA TERESA, NM 88008	6						
19	SANTA TERESA ELEMENTARY SCHOOL	201 COMMERCIANTE BLVD., SANTA TERESA,NM 88008	6						
20	SANTA TERESA HIGH SCHOOL	100 AIRPORT ROAD, SANTA TERESA, NM 88008	13						
22	SUNLAND PARK ELEMENTARY SCHOOL	305 ALTO VISTA DRIVE, SUNLAND PARK, NM 88063	4						
23	SUNRISE ELEMENTARY SCHOOL	1000 COUNTY LINE DRIVE, CHAPARRAL, NM 88081	6						
24	VADO ELEMENTARY SCHOOL	330 HOLGUIN ROAD, VADO, NM 88072	5						
25	YUCCA HEIGHTS ELEMENTARY SCHOOL	580 ANGELINE BLVD., CHAPARRAL, NM 88081	6						
		TOTAL	135						

## BID CONTENT SHEET - INSPECTION AND SERVICE OF RANGE HOOD SUPPRESSION SYSTEMS - **SLAVE CYLINDER** INCLUDE MILEAGE RATE PER MILE AND FUEL COST IN PRICING

## SEMI ANNUAL

	ATTACHMENT A		
SCHOOL	ADDRESS	QUANITIY	UNIT PRICE
1 ANTHONY ELEMENTARY SCHOOL	600 FOURTH STREET, ANTHONY, NM 88021	1	
2 BERINO ELEMENTARY SCHOOL	92 SHRODE ROAD, ANTHONY, NM 88021	1	
3 CHAPARRAL ELEMENTARY SCHOOL	300 E. LISA DRIVE, CHAPARRAL, NM 88081	1	
4 CHAPARRAL HIGH SCHOOL	800 COUNTY LINE DRIVE, CHAPARRAL, NM 88081	0	
5 CHAPARRAL MIDDLE SCHOOL	290 E. LISA DRIVE, CHAPARRAL, NM 88081	1	
6 DESERT PRIDE ACADEMY	100 SHRODE ROAD, ANTHONY, NM 88021	0	
7 DESERT TRAIL ELEMENTARY SCHOOL	310 E. LISA DRIVE, CHAPARRAL, NM 88081	0	
8 DESERT VIEW ELEMENTARY SCHOOL	1105 VALLE VISTA, SUNLAND PARK, NM 88063	1	
9 GADSDEN ADMINISTRATIVE COMPLEX	4950 MCNUTT, SANTA TERESA, NM 88008	1	
10 GADSDEN ELEMENTARY SCHOOL	1440 HIGHWAY 478, ANTHONY, NM 88021	1	
11 GADSDEN HIGH SCHOOL	6301 HIGHWAY 28, ANTHONY, NM 88021	1	
12 GADSDEN MIDDLE SCHOOL	1301 W. WASHINGTON STREET, ANTHONY, NM 88021	1	
13 LA UNION ELEMENTARY SCHOOL	875 MERCHANTILE AVENUE, LA UNION, NM 88021	1	
14 LOMA LINDA ELEMENTARY SCHOOL	1451 DONALDSON STREET, ANTHONY, NM 88021	0	
16 NORTH VALLEY ELEMENTARY SCHOOL	300 CASCADE AVE., SAN MIGUEL, NM 88058	1	
17 PHYSICAL PLANT COMPLEX	1325 W. WASHINGTON, ANTHONY, NM 88021	0	
18 RIVERSIDE ELEMENTARY SCHOOL	4085 MCNUTT ROAD, SUNLAND PARK, NM 88063	1	
21 SANTA TERESA MIDDLE SCHOOL	4800 MCNUTT ROAD, SANTA TERESA, NM 88008	1	
19 SANTA TERESA ELEMENTARY SCHOOL	201 COMMERCIANTE BLVD., SANTA TERESA,NM 88008	1	
20 SANTA TERESA HIGH SCHOOL	100 AIRPORT ROAD, SANTA TERESA, NM 88008	1	
22 SUNLAND PARK ELEMENTARY SCHOOL	305 ALTO VISTA DRIVE, SUNLAND PARK, NM 88063	1	
23 SUNRISE ELEMENTARY SCHOOL	1000 COUNTY LINE DRIVE, CHAPARRAL, NM 88081	1	
24 VADO ELEMENTARY SCHOOL	330 HOLGUIN ROAD, VADO, NM 88072	1	
25 YUCCA HEIGHTS ELEMENTARY SCHOOL	580 ANGELINE BLVD., CHAPARRAL, NM 88081	1	
	ΤΟΤΑΙ	. 19	

	BID CONTENT SHEET - INSPECTIO	ON AND SERVICE OF RANGE SUPPRESSION SYSTEMS - HOOD SYSTEM		
	INCLUDE MIL	EAGE RATE PER MILE AND FUEL COST IN PRICING		
		SEMI ANNUAL		
		ATTACHMENT A		
	SCHOOL	ADDRESS	QUANITIY	UNIT PRICE
1	ANTHONY ELEMENTARY SCHOOL	600 FOURTH STREET, ANTHONY, NM 88021	1	
2	BERINO ELEMENTARY SCHOOL	92 SHRODE ROAD, ANTHONY, NM 88021	1	
3	CHAPARRAL ELEMENTARY SCHOOL	300 E. LISA DRIVE, CHAPARRAL, NM 88081	1	
4	CHAPARRAL HIGH SCHOOL	800 COUNTY LINE DRIVE, CHAPARRAL, NM 88081	2	
5	CHAPARRAL MIDDLE SCHOOL	290 E. LISA DRIVE, CHAPARRAL, NM 88081	1	
6	DESERT PRIDE ACADEMY	100 SHRODE ROAD, ANTHONY, NM 88021	0	
7	DESERT TRAIL ELEMENTARY SCHOOL	310 E. LISA DRIVE, CHAPARRAL, NM 88081	1	
8	DESERT VIEW ELEMENTARY SCHOOL	1105 VALLE VISTA, SUNLAND PARK, NM 88063	1	
9	GADSDEN ADMINISTRATIVE COMPLEX	4950 MCNUTT, SANTA TERESA, NM 88008	1	
10	GADSDEN ELEMENTARY SCHOOL	1440 HIGHWAY 478, ANTHONY, NM 88021	1	
11	GADSDEN HIGH SCHOOL	6301 HIGHWAY 28, ANTHONY, NM 88021	2	
12	GADSDEN MIDDLE SCHOOL	1301 W. WASHINGTON STREET, ANTHONY, NM 88021	1	
13	LA UNION ELEMENTARY SCHOOL	875 MERCHANTILE AVENUE, LA UNION, NM 88021	1	
14	LOMA LINDA ELEMENTARY SCHOOL	1451 DONALDSON STREET, ANTHONY, NM 88021	1	
16	NORTH VALLEY ELEMENTARY SCHOOL	300 CASCADE AVE., SAN MIGUEL, NM 88058	1	
17	PHYSICAL PLANT COMPLEX	1325 W. WASHINGTON, ANTHONY, NM 88021	0	
18	RIVERSIDE ELEMENTARY SCHOOL	4085 MCNUTT ROAD, SUNLAND PARK, NM 88063	1	
21	SANTA TERESA MIDDLE SCHOOL	4800 MCNUTT ROAD, SANTA TERESA, NM 88008	1	
19	SANTA TERESA ELEMENTARY SCHOOL	201 COMMERCIANTE BLVD., SANTA TERESA,NM 88008	1	
20	SANTA TERESA HIGH SCHOOL	100 AIRPORT ROAD, SANTA TERESA, NM 88008	3	
22	SUNLAND PARK ELEMENTARY SCHOOL	305 ALTO VISTA DRIVE, SUNLAND PARK, NM 88063	1	
23	SUNRISE ELEMENTARY SCHOOL	1000 COUNTY LINE DRIVE, CHAPARRAL, NM 88081	1	
24	VADO ELEMENTARY SCHOOL	330 HOLGUIN ROAD, VADO, NM 88072	1	
25	YUCCA HEIGHTS ELEMENTARY SCHOOL	580 ANGELINE BLVD., CHAPARRAL, NM 88081	1	
		TOTAL	26	

Note: (1) Co	ontrol Agent initial here: if low bid is acceptable.	(2) Attach n	nemo stating w	hy low bid is not acceptable	(3) Return your	recommendation	n to Purchasing	
Purchasing	g Agent: GEORGINA GALVAN	Departme	ent: PHYSIC	AL PLANT		Phone Num	oer: 575-882-	6252
Bid Numbe	er: 2324-116	Advertisir	ng Date: SEF	PTEMBER 24, 2023		Opening Dat	e: OCTOBER 1	7, 2023
Description	n: Semi Annual Inspection & Service of Range H	lood Supp	ression Syst	emsFuse Links				
Witness:								
			ASSURAN	NCE FIRE PROTECTION, LLC	FIRE T	ECH LL	METRO FIRE	EQUIPMENT INC
Item	Description	Qty.	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	ANTHONY ELEMENTARY SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
2	BERINO ELEMENTARY SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
3	CHAPARRAL ELEMENTARY SCHOOL	3	\$ 13.00	\$ 39.00		\$ 30.00	\$ 16.00	\$ 48.00
4	CHAPARRAL HIGH SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
5	CHAPARRAL MIDDLE SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
6	DESERT PRIDE ACADEMY	0	\$ 13.00	\$ -				
7	DESERT TRAIL ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
8	DESERT VIEW ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
9	GADSDEN ADMINISTRATIVE COMPLEX	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
10	GADSDEN ELEMENTARY SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
11	GADSDEN HIGH SCHOOL	22	\$ 13.00	\$ 286.00	\$ 10.00	\$ 220.00	\$ 16.00	\$ 352.00
12	GADSDEN MIDDLE SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
13	LA UNION ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
14	LOMA LINDA ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
16	NORTH VALLEY ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
17	PHYSICAL PLANT COMPLEX	0	\$ 13.00	\$ -				
18	RIVERSIDE ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
21	SANTA TERESA MIDDLE SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
19	SANTA TERESA ELEMENTARY SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
20	SANTA TERESA HIGH SCHOOL	13	\$ 13.00	\$ 169.00	\$ 10.00	\$ 130.00	\$ 16.00	\$ 208.00
22	SUNLAND PARK ELEMENTARY SCHOOL	4	\$ 13.00	\$ 52.00	\$ 10.00	\$ 40.00	\$ 16.00	\$ 64.00
23	SUNRISE ELEMENTARY SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
24	VADO ELEMENTARY SCHOOL	5	\$ 13.00	\$ 65.00	\$ 10.00	\$ 50.00	\$ 16.00	\$ 80.00
25	YUCCA HEIGHTS ELEMENTARY SCHOOL	6	\$ 13.00	\$ 78.00	\$ 10.00	\$ 60.00	\$ 16.00	\$ 96.00
TOTAL PRI	CE	135		\$ 1,755.00		\$ 1,350.00		\$ 2,160.00
TERMS								
DELIVERY								
FOB								
IN-STATE F	PREFERENCE NUMBER							

Note: (1) Co	ntrol Agent initial here: if low bid is acceptable	. (2) Atta	ch memo statir	ng why low bid is not acceptable	(3) Return your r	ecommendatio	n to Purchasi	ng
Purchasing	g Agent: GEORGINA GALVAN	Departme	nt: PHYSICA	L PLANT		Phone Nur	nber: 575-8	382-6252
Bid Numbe	er: 23-24-116	Advertising	g Date: SEP	TEMBER 24, 2023		Opening Da	ate: OCTOB	ER 17, 2023
Description	n: Semi Annual Inspection & Service of Rar	nge Hood Su	uppression S	SystemsSlave Cylinder		Time: 2:00	PM	
Witness:								
			ASSURAN	ICE FIRE PROTECTION, LLC	FIRE TEC	HLL	METRO FI	RE EQUIPMENT INC
Item	Description	Qty.	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	ANTHONY ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
2	BERINO ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
3	CHAPARRAL ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
4	CHAPARRAL HIGH SCHOOL	0	\$ -	\$-				
5	CHAPARRAL MIDDLE SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
6	DESERT PRIDE ACADEMY	0	\$ -	\$-				
7	DESERT TRAIL ELEMENTARY SCHOOL	0	\$ -	\$-				
8	DESERT VIEW ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
9	GADSDEN ADMINISTRATIVE COMPLEX	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
10	GADSDEN ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
11	GADSDEN HIGH SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
12	GADSDEN MIDDLE SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
13	LA UNION ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
14	LOMA LINDA ELEMENTARY SCHOOL	0	\$ -	\$-				
16	NORTH VALLEY ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
17	PHYSICAL PLANT COMPLEX	0	\$ 20.00	\$-				
18	RIVERSIDE ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
21	SANTA TERESA MIDDLE SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
19	SANTA TERESA ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
20	SANTA TERESA HIGH SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
22	SUNLAND PARK ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
23	SUNRISE ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
24	VADO ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
25	YUCCA HEIGHTS ELEMENTARY SCHOOL	1	\$ 20.00	\$ 20.00	\$ 35.00	\$ 35.00	\$ 40.00	\$ 40.00
TOTAL PRI	CE	19		\$ 380.00		\$ 665.00		\$ 760.00
TERMS								
DELIVERY								
FOB								
IN-STATE F	PREFERENCE NUMBER							

Note: (1) C	ontrol Agent initial here: if low bid is acceptable.	. (2) Attac	h memo	stating	why low bid is not acceptable (	3) Re	eturn your re	econ	mendation to	Pur	chasing		
Purchasin	g Agent: GEORGINA GALVAN	Departn	nent: F	PHYSI	YSICAL PLANT Phone Number: 575-882-6252								
Bid Numb	er: 23-24-116	Advertis	ing Da	te: SE	SEPTEMBER 24, 2023 Opening Date: OCTOBER 17, 2023							23	
Descriptio	on: Semi Annual Inspection & Service of Ran	ge Hood	Suppre	ession	on SystemsHood System Time: 2:00 PM								
Witness:													
			ASS	SURAN	NCE FIRE PROTECTION, LLC		FIRE T	<b>FECH</b>	H LL	METRO FIRE EQUIPMENT IN			JIPMENT INC
Item	Description	Qty.	Unit	Price	Total	U	nit Price		Total	U	nit Price		Total
1	ANTHONY ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	373.21	\$	373.21
2	BERINO ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	242.13	\$	242.13
3	CHAPARRAL ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	232.03	\$	232.03
4	CHAPARRAL HIGH SCHOOL	2	\$7	0.00	\$ 140.00	\$	68.00	\$	136.00	\$	964.17	\$	1,928.33
5	CHAPARRAL MIDDLE SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	240.61	\$	240.61
6	DESERT PRIDE ACADEMY	0	\$	-	\$-								
7	DESERT TRAIL ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	235.66	\$	235.66
8	DESERT VIEW ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	238.82	\$	238.82
9	GADSDEN ADMINISTRATIVE COMPLEX	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	601.05	\$	601.05
10	GADSDEN ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	242.13	\$	242.13
11	GADSDEN HIGH SCHOOL	2	\$7	0.00	\$ 140.00	\$	68.00	\$	136.00	\$	344.86	\$	689.71
12	GADSDEN MIDDLE SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	242.13	\$	242.13
13	LA UNION ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	239.41	\$	239.41
14	LOMA LINDA ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	236.01	\$	236.01
16	NORTH VALLEY ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	233.47	\$	233.47
17	PHYSICAL PLANT COMPLEX	0	\$	-	\$-								
18	RIVERSIDE ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	238.82	\$	238.82
21	SANTA TERESA MIDDLE SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	241.48	\$	241.48
19	SANTA TERESA ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	206.82	\$	206.82
20	SANTA TERESA HIGH SCHOOL	3	\$7	0.00	\$ 210.00	\$	68.00	\$	204.00	\$	237.04	\$	711.12
22	SUNLAND PARK ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	238.82	\$	238.82
23	SUNRISE ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	589.96	\$	589.96
24	VADO ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	234.53	\$	234.53
25	YUCCA HEIGHTS ELEMENTARY SCHOOL	1	\$7	0.00	\$ 70.00	\$	68.00	\$	68.00	\$	235.14	\$	235.14
TOTAL PR	ICE	26			\$ 1,820.00			\$	1,768.00			\$	8,671.39
TERMS													
DELIVERY	·												
FOB													
IN-STATE	PREFERENCE NUMBER												

Semi Annual Inspection & Service of Range Hood Suppression Systems Bid # 23-24-116								
Metro Fire Equipment	Fire Tech LLC	Assurance Fire Protection, LLC	Fuse Links					
\$ 2,160.00	1,350.00	\$ 1,755.00	Total					
Metro Fire Equipment	Fire Tech LLC	Assurance Fire Protection, LLC	Slave Cylinder					
\$ 760.00	665.00	\$ 380.00	Total					
Metro Fire Equipment	Fire Tech LLC	Assurance Fire Protection, LLC	Hood Systems					
\$ 8,671.39	1,768.00	\$ 1,820.00	Total					